WALMART VALUE SHOPPER GENERATION 2 #440000 (EXPLODED VIEW
AUGUST 2004 — SEPTEMBER 2006

11083.10 COVER
11083.20 ASM

ENCLOSURE-
10382.20 ROCKER SWITCH

7 4076
9938 ’/_ 9766

\% 9157.10—,
10399
T
Ry

7361.20 POT—
10423

11355—\??

10802

m/soswsq K
/ \\8944 11145 BRAKE RELAY ASM
0203

1963 9768.20 BATTERY

8969
10480.10 7852 WIRE ASM
11120
6768

6618.2

107’98.20E }

7849 BASKET ASM 3622—/

1184 ~ \ ;
-
< 11408 ’ 10610 WP 10400

10060.2 S Y 1og0a 10488 475010
© : ¢
Py 10407.20-%
g 10393
< : /
: 0421 1089
10451

1205.20 SPROCKET ASM
10577 WIRE CLIP

Approvals __ { !R

AMIGO MOBILITY INTERNATIONAL, INC.

6693 Dixie Highway « Bridgeport, Ml 48722-9725
Phone: (800) 248-9131 + Fax:(800) 334-7274 » www.myamigo.com




Part #
1035
1069
1138
1184
1189
1192
1205.20
1258
1272
1963
2236
2237
3083
3622
4075
479010
5190
6263
6618.20
6816
7281
7361.20
7441
7657
7773
7849
7852
8216
8534
8944
8069
9054VSQK
9157.10
9203
9766
9768
9768.20
9836
9937.23
10050.20
10151

Description
Bushing, Jackshaft
Washer, Shim, 5/8 ID x 7/8 OD x .0186 Thick
Chain, Drive
Screw, Truss Head, 1/4-20x1/2 Lg
Washer, Cone Lock, 3/8 ID x 3/4 OD
Washer, Flat, 9/32 ID x 5/8 OD
Sprocket Asm
Screw, Hex, 5/16-18 x 3/4 Lg
Belt, Gear Type
Loorm, Wire
Screw, Hex, 3/8-24 x33/4 Lg
Nut, Hex, 3/8-24
Nut, Hex Serrated Flange, 1/4-20
Nut, Hex, Nylen insert, 1/4-20
Screw, Flat Head Hex Socket, 1/4-20 x 2 Lg
Wheel Asm, 6" Rear
Screw, Hex Socket, 1/4-28 x 3/8 Lg
Screw, Phillips, Self Tap, #10-32 x 3/4 Lg
Bumper, Basket, Asm
Basket, Shopper
Screw, Hex Socket, 1/4-20x 7/8 Lg
Pot Asm, Commercial
Circuit Breaker, Auto Reset, 25 Amp
Screw, Hex Washer, Self Tap, #10-32 x 3/8 Lg
Cap, Vinyl Insulated
Basket Asm, Shopper (Complete)
Wire Asm, Charger To Controlier
Charger, 3 Amp
Plug, Tube Square, 1"
Band, Retaining
Cable, MPC Handle Canfrol
Controlier
Switch, Seat
Wire Asm, Seat Switch
Wire Asm, Battery To QC
Wire Asm, Battery QC To Controller
Wire Asm, Battery QC To Controller Asm
Handle, Upper
Column Asm , Standard, Black, Non-Tilt
Bearing Asm
Foam Insert, Adhesive Backed

P~
=

Part #
10391.20
10392.32
10393
10394.20
10396.30
10399
10400
10401
10402.10
10405.20
10407.20
10421
10423
10451
10466
10480.10
10577
10610
10793
10794
10797
10798.20
10800.40
10802
10803
10841.10
10984
11074
11083
11083.10
11083.20
11120
11145
11312
113565
11406
11487
100275
100300
100485
269002

WALMART VALUE SHOPPER GENERATION 2 #440000 PARTS LIST — AUGUST 2004 - SEPTEMBER 2006

Description
Motor Asm w/ Pulley
Enclosure Asm w/ Horn & Rocker Switch
Grourtd Wire Asm
Strap Basket Support Asm
Power Cord, AC Refractable w/ Bushing
Boot, Battery Terminal, Red
Spring, Compression 21/32 ID x 6 Lg
Axle Long
Fork Weldment Value Shopper
Bracket, Power Cord Holder Asm
Wheel Asm, Stability
Wheelhousing Red
Boot, Battery Terminal, Black
Plug, Round 3/8 OD
Strap, Wire Support
Screw, Hex, 1/4-20x6 1/2Lg
Clip, Wire Guide
Grommet, 58 [D x 7/8 OD
Platform, Value Shopper Black
Mat, Standard
Wire Asm, Drive to Controller
Sign Asm, "For Qur Valued Customers”
Sign Asm, Operation & Safety English/Spanish
Pedestal Cover
Plug, Tube Rectangle, 1 1/2 x 3/4
Drive Head 9 Tooth Top Slot
Cover Handle Wire
Wheel Asm, 6 Inch
Seat, Shopper, PVC Free
Seat Cover, Shopper, PVC Free
Seat Asm, Shopper, PVC Free
Retainer, Battery
Brake Relay Asm
Washer, Lock, 5/16 ID x 19/32 OD
Screw, Phillips, #6 x 1 1/2 Lg
Flange Wheel Housing
Plate, Back, Standard, Non Tilt
Pulley, Driven, 60 Tooth
Pulley and Spring Pin
Jackshaft @ Teoth, Key, and Washer
Battery, 12 Volt, 33 AH (U-1)

Qiy/unit

R = M 2 3 o P 3 e e 3 3 3 R e A S S W RSN S S S NS RS

Approvals _ CIAR

AMIGO MOBILITY INTERNATIONAL, INC.

6693 Dixie Highway « Bridgeport, Ml 48722-9725
Phone; (800) 248-9131 « Fax: (800) 334-7274 « www,myamigo.com



WALMART WIRING DIAGRAM

|
! BATTERY
H_._wwﬂrm THROTTLE CIRCUIT BOARD %\ﬁ_ﬁ%ﬁ 12V D.C. w m/ﬁm&
o050 (o BLK |
@ OM RED o mA_.v =
O O
_ RED BLK
B | | |BLK RED| |
BLU o | L Bk |
ORG . W & |
BLK o _ RED
=
x = | BLK
|
MODULAR CONN.
" T0P_OF HANDLE
GRN BLK
2 oel CHARGER MOTOR
WHT BLK
AR BLK| [RED
| H oz m_
SEAT SWITCH (N.C)) == \f
3] 8w & g J_m EX R |
S || Cconn. o~ e o _
: s 8 £ 5 B
| MISC. = = = = = !
| OPTIONS m = !

COMMERCIAL ASIC MICROCONTROLLER




	0071711 - 0081853
	Value Shopper Gen 2 Wiring Diagram (Walmart) September 2005 -October 2006

